ﬂh Vertical Division with a Helper Grid Name:
Solve each problem. Answers

1) 2) 3)

4|243 7|91O 8|148 L

4) 5) 6) 7.

1|912 5|425 4|995 N

7) 8) 9)

9|486 8|691 4|758

w 1-9 [89]78]67[56]44|33[22]11] 0 |
www.CommonCoreSheets.com



Answer Key

Solve each problem.

1) 6/0r3
412 43
24

N

7)

©

|-l>-l>
|oooomooo1
olo o ol

Vertical Division with a Helper Grid Name:
2 130 3) 1/8r4
7[9'10 8(14/8
7 _8

211 68
2 64
0 4
5) 85 6) 2/4/8r3
5(4/2/5 4[9/9'5
4o 8
25 1|9
25 16
0 35
32
3
8) 8/6r3 9 1809r2
8[6/9/1 4[7/5'8
64 4
51 35
48 32
3 38
3/6
2

Answers

6013

130

18r4

912

85

248713

54

8613

18912
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